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Step 1: Roll 4d6 7 times. Calculate ability scores by taking the 3 highest numbers for each row. Identify
the 6 highest scores.

Step 2: If you have more than 2 numbers >=15 then drop the lowest number of that group. If you don’t
have an ability score with 15+ then add the fourth die roll to a score (you pick which one.
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Sample Results A: Step 1

Dice Rolls ‘

15t 2 3r 4t = Total

[e)RNe)REe) RN RIN-NNV, NNV, |
e S P S P
AN AESGEES
e S P S P
A wuliFk,WWw
e S P S P
NN RP (R |w -

|

i

)

Sample Results A: Step 2
18, 17, 16 <- Drop 16, Results: 18, 17, 13, 13,12, 7

Sample Results B: Step 1
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Sample Results B: Step 2
Choose the second set of rolls for a 14, and add 4% die (3): 17
Results: 17, 14, 13, 13,12, 11




